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xrecord = [xrecord,x];
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// Draw initial figure \
figure(1);
plot(xrecord(1),0,'0"); ol
h_compound = gce();
h_compound.children.mark_size = 20; 08
h_compound.children.mark_background = 2; 04
h_axes = gca();
h_axes.data_bounds = [-1.5,-1.5;1.5,1.5]; S

o o

// Animation Loop ozl
i=1;
while i<=length(xrecord) o)

drawlater(); 08

h_compound.children.data = [xrecord(i),0]; drawnow(); o

i=i+l;
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for t=1:300,

F= 03

a=F-k¥x-c*y;

v = v+a*dt; 0.24

x = x+v¥dt;

xrecord = [xrecord,x]; o1
end o
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for t=1:300,
F=10.0 * (xgoal-:
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end
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xrecord = [xrecord,x];
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\ plot(xrecord); /
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xrecord =[];//T—42 8 A xrecord = [xrecord,x];
P=0.8; //PRLS end

1=0.05; //1F%}

i_seibun=0; plot(xrecord);
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